R1=# EHWBIL (H3 0OME) =4FfiARKHE [WETHE (1) (CHEEERER)
TFE - R - A0 Biks AL Kok i &
ELEE T GERR A S
1. +T
(1) +T
+T =X 1. 000
A T HE m3 242.100
A T HE m3 6. 800
PEHI T () HE m3 1. 500
PEHIT (RHA) N—ZR m3 261. 300
T HE 1, 4. 1km m3 261. 300
2. EET
(1) +=®T
No. 1:¥TEHER) 2y J—F = 1. 000
arvs7Y—hL (BT gﬁ%ﬁ’%@) ’2“;;2‘:255% m3 66. 700
BT (R T) ERAE IS m 162. 500
FR L RN, 157 SD345, D13 kg 779. 000
PR T ﬁfg;’;gul, HLAZ SD345, D16 ke 8. 094. 000
20. Ocmz 8 2. 22. bemPL T,
St %?7 TyTv Ty 40 m 13.700
BART (ELRET) Ej?g‘ffg?ﬁ 15~20cm, £ nf 209. 600
WER Y e =% —EVP #2150 4. 0m VN 3.000
RGRIE -« fiE #nd 111.200
wWas s —k ég%_)8_40 () (w/c= it e
No. 21T EHER) 2y J—F = 1. 000
arvs7Y—hL (BT gﬁ%ﬁ’%@) ’2“;;2‘:255% m3 66. 700
BT (R T) ERAHE IS m 162. 500
L RN, A7 SD345, D13 kg 779. 000

1/4




R1=# EHWBIL (H3 0OME) =4FfiARKHE [WETHE (1) (CHEEERER)
TFE - R - A0 Biks AL Kok i &
PR T ﬁfg;’;gul, #LAZ SD345, D16 ke 8. 094. 000
20. Ocmz A8 2. 22. bemPL T,
St %?7 TyTy Ty 40 m 13.700
BERT CEART) Ejzgglffg?% 15~20em, &£ | 4 197. 600
WER Y e =% —EVP #2150 4. 0m VN 3.000
RGRIE -« fiE #nd 111.200
3. 7vh—T
()7 vH—T
TrA—1T  (No. 1 :®T) v 1. 000
HIFL (7 > 5 —) T H®, 135mm, #UE m 138. 700
HIFL (7 > 1 —) TEE, 135mm, VRt m 202. 200
SR T ST - N - B - 245 55 (T/0-) BT E849. 1TkN/AR AR 19. 000
770 MEATH 24kN/mm2 W/C=47. 5% m3 15. 600
7 v — L& No. 1) gzgglz%@%9 LkN/% € = 1. 000
TrA—1T  (No. 2 :®T) v 1. 000
HIFL (7 > 1 —) T H®, 135mm, #UE m 136. 500
HIFL (7 > 1 —) TEE, 135mm, VRt m 198. 400
SR T HST - N - B - A5 55 (T/0-) B EH T E849. 1kN/AR AR 19. 000
770 MEATH 24kN/mm2 W/C=47. 5% m3 15. 300
7 v — L& (No. 2) g_gzglﬁﬁﬁg LkN/% € = 1. 000
4. gk T
(1) 1Lk T
(Lg% T v 1. 000
HLE 7K L L7 — b D-500X 250 = 1. 000
K T IH 2L — K D-500X 250 v 1. 000
BT (152%38—40 () (w/c= 5t L 000

2/4




R 1=# @G (H3 OMfE) =W ARKH WETHE (1) (CHEEERER)
TR - AR - A0 ok HLAZ Kok i =
DT (152%38—40 (@) (w/c= 5t e
ST (152%38—40 (@) (w/c= 5t e
HL I 2 v 1. 000
HLURE K B T (LU SRR A ) m 58. 000
5. MEMIRY Zb LT
(1) HEEmIY 2P LT
ar 7 ) — MEEWIRY ZH LT X 1. 000
ar 7 ) — MEEWIRY ZH LT HE D m3 4. 600
HI T (FA) et m3 4. 600
R T a7 J— Rl 6. 6km m3 4. 600
6. fixL
(1) T
£/ L—)b = 1. 000
L VEERORIE - SRR - il 15 AL i 1. 000
E ) L—/LiEiG arf m3 10. 200
&L (7 H—1I) X 1. 000
K=Y v T VBT ) [e] 4.000
R (7 91 —) Z¢m3 910. 000
FIFV=/ IV H 4. 000
(2) et
SLIEAE R X 1..000
SLIE T H R B B A 40. 000
e 2
1. Wefi gy
(1) e 2

3/4




R1=# #EHBL (H3O0MIE)

ZHFRAIRH ETE (1)

(T HEEAFER)

TFE - R - A0 Biks AL Kok i &
AR EY = 1. 000
X R fimEsE  20cm VN 100. 000
X R fimEsE  30cm VN 100. 000
LA v 1. 000
P2 ey Uik g =hrmE IR 5 m3 261. 300
a7y — Moy E a7 ) — M ton 10. 800

4/ 4




